# Several identities for the generalized Apostol-Bernoulli polynomials 

<br>${ }^{\text {a }}$ Department of Mathematics, Luoyang Normal University, Luoyang 471022, PR China<br>${ }^{\mathrm{b}}$ College of Mathematics and Information Science, Henan University, Kaifeng 475001, PR China

## A R TICLE IN F O

## Article history:

Received 31 October 2007
Received in revised form 26 May 2008
Accepted 10 July 2008

## Keywords:

Bernoulli number
Bernoulli polynomial
Apostol-Bernoulli polynomial
Generalized Apostol-Bernoulli polynomial
Combinatorial identity


#### Abstract

The purpose of this paper is to give several symmetric identities on the generalized Apostol-Bernoulli polynomials by applying the generating functions. These results extend some known identities.


© 2008 Elsevier Ltd. All rights reserved.

## 1. Introduction

For a real or complex parameter $\alpha$, the generalized Bernoulli polynomials $B_{n}^{(\alpha)}(x)$, are defined by means of the following exponential generating function (see [1-4]):

$$
\begin{equation*}
\left(\frac{t}{\mathrm{e}^{t}-1}\right)^{\alpha} \mathrm{e}^{x t}=\sum_{n=0}^{\infty} B_{n}^{(\alpha)}(x) \frac{t^{n}}{n!} \quad(|t|<2 \pi) \tag{1}
\end{equation*}
$$

The classical Bernoulli polynomials $B_{n}(x)$ and the Bernoulli numbers $B_{n}$ are

$$
B_{n}(x)=B_{n}^{(1)}(x), \quad B_{n}=B_{n}(0)
$$

respectively.
As a natural generalization of the Bernoulli polynomials and numbers, the Apostol-Bernoulli polynomials and numbers were first defined by Apostol [5] when he studied the Lipschitz-Lerch zeta functions. Luo and Srivastava introduced the generalized Apostol-Bernoulli polynomials which are defined as follows (see [6-9]).

Definition 1.1. For arbitrary real or complex parameters $\alpha$ and $\lambda$, the generalized Apostol-Bernoulli polynomials $\mathscr{B}_{n}^{(\alpha)}(x ; \lambda)$ are defined by the following generating functions:

$$
\begin{equation*}
\left(\frac{t}{\lambda \mathrm{e}^{t}-1}\right)^{\alpha} \mathrm{e}^{\chi t}=\sum_{n=0}^{\infty} \mathscr{B}_{n}^{(\alpha)}(x, \lambda) \frac{t^{n}}{n!} \quad(|t+\log \lambda|<2 \pi) . \tag{2}
\end{equation*}
$$

[^0]The Apostol-Bernoulli polynomials $\mathscr{B}_{n}(x ; \lambda)$ and the Apostol-Bernoulli numbers $\mathscr{B}_{n}(\lambda)$ are given by

$$
\begin{equation*}
\mathscr{B}_{n}(x ; \lambda)=\mathscr{B}_{n}^{(1)}(x ; \lambda), \quad \mathscr{B}_{n}(\lambda)=\mathscr{B}_{n}(0 ; \lambda) \quad\left(n \in \mathbb{N}_{0}\right), \tag{3}
\end{equation*}
$$

respectively.
The Bernoulli polynomials and numbers have numerous important applications in combinatorics, number theory and numerical analysis. As imitations of important properties of the Bernoulli polynomials and numbers, Luo and Srivastava studied systematically these polynomials [6-9]. Recently, Wang, Jia and Wang [10] also established two relationships between the generalized Apostol-Bernoulli and Apostol-Euler polynomials.

For each integer $k \geq 0, S_{k}(n)=\sum_{i=0}^{n} i^{k}$ is called sum of integer powers, or simply power sum. The exponential generating function for $S_{k}(n)$ is

$$
\begin{equation*}
\sum_{k=0}^{\infty} S_{k}(n) \frac{t^{k}}{k!}=1+\mathrm{e}^{t}+\mathrm{e}^{2 t}+\cdots+\mathrm{e}^{n t}=\frac{\mathrm{e}^{(n+1) t}-1}{\mathrm{e}^{t}-1} \tag{4}
\end{equation*}
$$

Now, we define the generalized sum of integer powers as follows:
Definition 1.2. For an arbitrary real or complex parameter $\lambda$, the generalized sum of integer powers $\mathscr{S}_{k}(n ; \lambda)$ is defined by the following generating functions:

$$
\begin{equation*}
\sum_{k=0}^{\infty} \mathscr{S}_{k}(n ; \lambda) \frac{t^{k}}{k!}=\frac{\lambda \mathrm{e}^{(n+1) t}-1}{\lambda \mathrm{e}^{t}-1} \tag{5}
\end{equation*}
$$

It is easy to see that

$$
\mathscr{S}_{k}(n ; 1)=S_{k}(n)
$$

Similarly, for each integer $k \geq 0, M_{k}(n)=\sum_{i=0}^{n}(-1)^{i} i^{k}$ is called sum of alternative integer powers. The exponential generating function for $M_{k}(n)$ is

$$
\begin{equation*}
\sum_{k=0}^{\infty} M_{k}(n) \frac{t^{k}}{k!}=1-\mathrm{e}^{t}+\mathrm{e}^{2 t}+\cdots+(-1)^{n} \mathrm{e}^{n t}=\frac{1-\left(-\mathrm{e}^{t}\right)^{(n+1)}}{\mathrm{e}^{t}+1} \tag{6}
\end{equation*}
$$

and we can define the generalized sum of alternative integer powers as follows:
Definition 1.3. For an arbitrary real or complex parameter $\lambda$, the generalized sum of alternative integer powers $\mathscr{S}_{k}(n ; \lambda)$ is defined by the following generating functions:

$$
\begin{equation*}
\sum_{k=0}^{\infty} \mathscr{M}_{k}(n ; \lambda) \frac{t^{k}}{k!}=\frac{1-\lambda\left(-\mathrm{e}^{t}\right)^{(n+1)}}{\lambda \mathrm{e}^{t}+1} \tag{7}
\end{equation*}
$$

It is easy to see that

$$
\mathscr{M}_{k}(n ; 1)=M_{k}(n) .
$$

## 2. Some symmetric identities on the Apostol-Bernoulli polynomials

In 2006, Garg, Jain and Srivastava [11] derived an explicit representation of these generalized Apostol-Bernoulli polynomials and proceeded to establishing a functional relationship between the generalized Apostol-Bernoulli polynomials and the Hurwitz zeta function. Following closely, Lin, Srivastava and Wang [12] presented a systematic investigation of expansion and transformation formulas for several general families of the Hurwitz-Lerch zeta functions.

The purpose of this paper is to give several symmetric identities on the generalized Apostol-Bernoulli polynomials by applying the generating functions. These results extend some known identities in [13-16].

Theorem 2.1. For all integers $a>0, b>0$, and $n \geq 0, m \geq 1, \lambda \in \mathbb{C}$, we have the following identity:

$$
\begin{align*}
& \sum_{k=0}^{n}\binom{n}{k} a^{n-k} b^{k+1} \mathscr{B}_{n-k}^{(m)}(b x ; \lambda) \sum_{i=0}^{k}\binom{k}{i} \mathscr{S}_{i}(a-1 ; \lambda) \mathscr{B}_{k-i}^{(m-1)}(a y ; \lambda) \\
& \quad=\sum_{k=0}^{n}\binom{n}{k} b^{n-k} a^{k+1} \mathscr{B}_{n-k}^{(m)}(a x ; \lambda) \sum_{i=0}^{k}\binom{k}{i} \mathscr{S}_{i}(b-1 ; \lambda) \mathscr{B}_{k-i}^{(m-1)}(b y ; \lambda) . \tag{8}
\end{align*}
$$

Proof. Let $g(t)=t^{2 m-1} \mathrm{e}^{a b x t}\left(\lambda \mathrm{e}^{a b t}-1\right) \mathrm{e}^{a b y t} /\left(\lambda \mathrm{e}^{a t}-1\right)^{m}\left(\lambda \mathrm{e}^{b t}-1\right)^{m}$. Note that this expression for $g(t)$ is symmetric in $a$ and $b$. In order to prove the theorem we expanded $g(t)$ into series in two ways.

$$
\begin{aligned}
g(t) & =\frac{t^{2 m-1} \mathrm{e}^{a b x t}\left(\lambda \mathrm{e}^{a b t}-1\right) \mathrm{e}^{a b y t}}{\left(\lambda \mathrm{e}^{a t}-1\right)^{m}\left(\lambda \mathrm{e}^{b t}-1\right)^{m}} \\
& =\frac{1}{a^{m} b^{m-1}}\left(\frac{a t}{\lambda \mathrm{e}^{a t}-1}\right)^{m} \mathrm{e}^{a b x t}\left(\frac{\lambda \mathrm{e}^{a b t}-1}{\lambda \mathrm{e}^{b t}-1}\right)\left(\frac{b t}{\lambda \mathrm{e}^{b t}-1}\right)^{m-1} \mathrm{e}^{a b y t} \\
& =\frac{1}{a^{m} b^{m-1}}\left(\sum_{n=0}^{\infty} \mathscr{B}_{n}^{(m)}(b x ; \lambda) \frac{(a t)^{n}}{n!}\right)\left(\sum_{n=0}^{\infty} \mathscr{S}_{n}(a-1 ; \lambda) \frac{(b t)^{n}}{n!}\right)\left(\sum_{n=0}^{\infty} \mathscr{B}_{n}^{(m-1)}(a y ; \lambda) \frac{(b t)^{n}}{n!}\right) \\
& =\frac{1}{a^{m} b^{m}} \sum_{n=0}^{\infty}\left(\sum_{k=0}^{n}\binom{n}{k} a^{n-k} b^{k+1} \mathscr{B}_{n-k}^{(m)}(b x ; \lambda) \sum_{i=0}^{k}\binom{k}{i} \mathscr{S}_{i}(a-1 ; \lambda) \mathscr{B}_{k-i}^{(m-1)}(a y ; \lambda)\right) \frac{t^{n}}{n!} .
\end{aligned}
$$

Using a similar plan, we have

$$
g(t)=\frac{1}{a^{m} b^{m}} \sum_{n=0}^{\infty}\left(\sum_{k=0}^{n}\binom{n}{k} b^{n-k} a^{k+1} \mathscr{B}_{n-k}^{(m)}(a x ; \lambda) \sum_{i=0}^{k}\binom{k}{i} \mathscr{S}_{i}(b-1 ; \lambda) \mathscr{B}_{k-i}^{(m-1)}(b y ; \lambda)\right) \frac{t^{n}}{n!} .
$$

Equating coefficients of ( $t^{n} / n!$ ) on the right-hand sides of the last two equations gives us (8).
By setting $\lambda=1$ in Theorem 2.1, we have a common special case of the identity which is one of the main results of Yang [16, Eqs. (9)]:

Corollary 2.2. For all integers $a>0, b>0$, and $n \geq 0, m \geq 1$,

$$
\begin{align*}
& \sum_{k=0}^{n}\binom{n}{k} a^{n-k} b^{k+1} B_{n-k}^{(m)}(b x) \sum_{i=0}^{k}\binom{k}{i} S_{i}(a-1) B_{k-i}^{(m-1)}(a y) \\
& \quad=\sum_{k=0}^{n}\binom{n}{k} b^{n-k} a^{k+1} B_{n-k}^{(m)}(a x) \sum_{i=0}^{k}\binom{k}{i} S_{i}(b-1) B_{k-i}^{(m-1)}(b y) \tag{9}
\end{align*}
$$

Setting $y=0$ and $m=1$ in Theorem 2.1, we obtain the relation:
Corollary 2.3. For all integers $a>0, b>0$, and $n \geq 0, \lambda \in \mathbb{C}$,

$$
\begin{equation*}
\sum_{i=0}^{n}\binom{n}{i} a^{i-1} b^{n-i} \mathscr{B}_{i}(b x ; \lambda) \mathscr{S}_{n-i}(a-1 ; \lambda)=\sum_{i=0}^{n}\binom{n}{i} b^{i-1} a^{n-i} \mathscr{B}_{i}(a x ; \lambda) \mathscr{S}_{n-i}(b-1 ; \lambda) \tag{10}
\end{equation*}
$$

Setting $x=0$ in (10), we have the relation:
Corollary 2.4. For all integers $a>0, b>0$, and $n \geq 0, \lambda \in \mathbb{C}$, we have the following relation:

$$
\begin{equation*}
\sum_{k=0}^{n}\binom{n}{k} \mathscr{B}_{k}(\lambda) a^{k-1} b^{n-k} \mathscr{S}_{n-k}(a-1 ; \lambda)=\sum_{k=0}^{n}\binom{n}{k} \mathscr{B}_{k}(\lambda) b^{k-1} a^{n-k} \mathscr{S}_{n-k}(b-1 ; \lambda) \tag{11}
\end{equation*}
$$

When $\lambda=1$ in (11), we get the relation of symmetry between the power sum polynomials and the Bernoulli polynomials in Tuenter [14]. It is given by

$$
\begin{equation*}
\sum_{k=0}^{n}\binom{n}{k} a^{k-1} B_{k} b^{n-k} S_{n-k}(a-1)=\sum_{k=0}^{n}\binom{n}{k} b^{k-1} B_{k} a^{n-k} S_{n-k}(b-1) \tag{12}
\end{equation*}
$$

Setting $b=1$ in (10), we have:

$$
\begin{equation*}
\mathscr{B}_{n}(a x ; \lambda)=\sum_{i=0}^{n} a^{i-1}\binom{n}{i} \mathscr{B}_{i}(x ; \lambda) \mathscr{S}_{n-i}(a-1 ; \lambda) . \tag{13}
\end{equation*}
$$

On the one hand, by setting $\lambda=1$ in (13), a common special case of the identity is

$$
\begin{equation*}
B_{n}(a x)=\sum_{i=0}^{n} a^{i-1}\binom{n}{i} B_{i}(x) S_{n-i}(a-1) \tag{14}
\end{equation*}
$$

which can be found in Yang [16, Eqs.(11)].
On the other hand, by setting $x=0$ in (13), we have a recurrence on the Apostol-Bernoulli polynomials:

Corollary 2.5. For $\lambda \in \mathbb{C}$ and $n \in N_{0}$, the Apostol-Bernoulli numbers $\mathscr{B}_{n}(\lambda)$ satisfy

$$
\begin{equation*}
\mathscr{B}_{n}(\lambda)=\sum_{i=0}^{n}\binom{n}{i} a^{i-1} \mathscr{B}_{i}(\lambda) \mathscr{S}_{n-i}(a-1 ; \lambda) . \tag{15}
\end{equation*}
$$

Corollary 2.6. For any positive integer $n$ and any positive integer $a>1, \lambda \in \mathbb{C}$,

$$
\begin{equation*}
\mathscr{B}_{n}(\lambda)=\frac{1}{a\left(1-a^{n-1} \sum_{k=0}^{a-1} \lambda^{k}\right)} \sum_{i=0}^{n-1}\binom{n}{i} a^{i} \mathscr{B}_{i}(\lambda) \mathscr{S}_{n-i}(a-1 ; \lambda) \tag{16}
\end{equation*}
$$

Proof. Since $\mathscr{S}_{0}(a-1 ; \lambda)=\sum_{k=0}^{a-1} \lambda^{k}$, by simple computing in (15), we have the recurrence relation.
Setting $\lambda=1$ in Corollary 2.6, we have

$$
\begin{equation*}
B_{n}=\frac{1}{a\left(1-a^{n}\right)} \sum_{i=0}^{n-1} a^{i}\binom{n}{i} B_{i} S_{n-i}(a-1) \tag{17}
\end{equation*}
$$

Recurrence relation (17) for the Bernoulli numbers have been proved in Deeba and Rodriguez [13] and Gessel [17].
Theorem 2.7. For each pair of positive integers $a$ and $b$, and all integers $n \geq 0, \lambda \in \mathbb{C}$ and $m \geq 1$, we have the following identity:

$$
\begin{align*}
& \sum_{k=0}^{n}\binom{n}{k} \sum_{i=0}^{a-1} \sum_{j=0}^{b-1} \lambda^{i+j} a^{k} b^{n-k} \mathscr{B}_{k}^{(m)}\left(b x+\frac{b}{a} i ; \lambda\right) \mathscr{B}_{n-k}^{(m)}\left(a y+\frac{a}{b} j ; \lambda\right) \\
& \quad=\sum_{k=0}^{n}\binom{n}{k} \sum_{i=0}^{b-1} \sum_{j=0}^{a-1} \lambda^{i+j} b^{k} a^{n-k} \mathscr{B}_{k}^{(m)}\left(a x+\frac{a}{b} i ; \lambda\right) \mathscr{B}_{n-k}^{(m)}\left(b y+\frac{b}{a} j ; \lambda\right) . \tag{18}
\end{align*}
$$

Proof. Let $h(t)=t^{2 m} \mathrm{e}^{a b x t}\left(\lambda^{a} \mathrm{e}^{a b t}-1\right)\left(\lambda^{b} \mathrm{e}^{a b t}-1\right) \mathrm{e}^{a b y t} /\left(\lambda \mathrm{e}^{a t}-1\right)^{m+1}\left(\lambda \mathrm{e}^{b t}-1\right)^{m+1}$, then, the expression for $h(t)$ is symmetric in $a$ and $b$, and we can expand $h(t)$ into series in two ways to prove the theorem.

$$
\begin{aligned}
h(t) & =\frac{t^{2 m} \mathrm{e}^{a b x t}\left(\lambda^{a} \mathrm{e}^{a b t}-1\right)\left(\lambda^{b} \mathrm{e}^{a b t}-1\right) \mathrm{e}^{a b y t}}{\left(\lambda \mathrm{e}^{a t}-1\right)^{m+1}\left(\lambda \mathrm{e}^{b t}-1\right)^{m+1}} \\
& =\frac{1}{a^{m} b^{m}}\left(\frac{a t}{\lambda \mathrm{e}^{a t}-1}\right)^{m} \mathrm{e}^{a b x t}\left(\frac{\lambda^{a} \mathrm{e}^{a b t}-1}{\lambda \mathrm{e}^{b t}-1}\right)\left(\frac{b t}{\lambda \mathrm{e}^{b t}-1}\right)^{m} \mathrm{e}^{a b y t}\left(\frac{\lambda^{b} \mathrm{e}^{a b t}-1}{\lambda \mathrm{e}^{a t}-1}\right) \\
& =\frac{1}{a^{m} b^{m}}\left(\frac{a t}{\lambda \mathrm{e}^{a t}-1}\right)^{m} \mathrm{e}^{a b x t} \sum_{i=0}^{a-1} \lambda^{i} \mathrm{e}^{b t i}\left(\frac{b t}{\lambda \mathrm{e}^{b t}-1}\right)^{m} \mathrm{e}^{a b y t} \sum_{j=0}^{b-1} \lambda^{j} \mathrm{e}^{a t j} \\
& =\frac{1}{a^{m} b^{m}} \sum_{i=0}^{a-1} \lambda^{i}\left(\frac{a t}{\lambda \mathrm{e}^{a t}-1}\right)^{m} \mathrm{e}^{\left(b x+\frac{b}{a} i\right) a t} \sum_{j=0}^{b-1} \lambda^{j}\left(\frac{b t}{\lambda \mathrm{e}^{b t}-1}\right)^{m} \mathrm{e}^{\left(a y+\frac{a}{b} j\right) b t} \\
& =\frac{1}{a^{m} b^{m}}\left(\sum_{i=0}^{a-1} \lambda^{i} \sum_{n=0}^{\infty} \mathscr{B}_{n}^{(m)}\left(b x+\frac{b}{a} i ; \lambda\right) \frac{(a t)^{n}}{n!}\right)\left(\sum_{j=0}^{b-1} \lambda^{j} \sum_{n=0}^{\infty} \mathscr{B}_{n}^{(m)}\left(a y+\frac{a}{b} j ; \lambda\right) \frac{(b t)^{n}}{n!}\right) \\
& =\frac{1}{a^{m} b^{m}} \sum_{n=0}^{\infty}\left(\sum_{k=0}^{n}\binom{n}{k} \sum_{i=0}^{a-1} \sum_{j=0}^{b-1} \lambda^{i+j} a^{k} b^{n-k} \mathscr{B}_{k}^{(m)}\left(b x+\frac{b}{a} i ; \lambda\right) \mathscr{B}_{n-k}^{(m)}\left(a y+\frac{a}{b} j ; \lambda\right)\right) \frac{t^{n}}{n!} .
\end{aligned}
$$

Separately,

$$
\begin{aligned}
h(t) & =\frac{t^{2 m} \mathrm{e}^{a b x t}\left(\lambda^{a} \mathrm{e}^{a b t}-1\right)\left(\lambda^{b} \mathrm{e}^{a b t}-1\right) \mathrm{e}^{a b y t}}{\left(\lambda \mathrm{e}^{a t}-1\right)^{m+1}\left(\lambda \mathrm{e}^{b t}-1\right)^{m+1}} \\
& =\frac{1}{a^{m} b^{m}} \sum_{n=0}^{\infty}\left(\sum_{k=0}^{n}\binom{n}{k} \sum_{i=0}^{b-1} \sum_{j=0}^{a-1} \lambda^{i+j} b^{k} a^{n-k} \mathscr{B}_{k}^{(m)}\left(a x+\frac{a}{b} i ; \lambda\right) \mathscr{B}_{n-k}^{(m)}\left(b y+\frac{b}{a} j ; \lambda\right)\right) \frac{t^{n}}{n!} .
\end{aligned}
$$

By comparing the coefficients of $t^{n} / n$ ! on the right-hand sides of the last two equations we arrive at the desired results (18).

By setting $\lambda=1$ in Theorem 2.7, we have a common special case of the identity:

Corollary 2.8. For all integers $a>0, b>0$, and $n \geq 0, m \geq 1$,

$$
\begin{align*}
& \sum_{k=0}^{n}\binom{n}{k} \sum_{i=0}^{a-1} \sum_{j=0}^{b-1} a^{k} b^{n-k} B_{k}^{(m)}\left(b x+\frac{b}{a} i\right) B_{n-k}^{(m)}\left(a y+\frac{a}{b} i\right) \\
& \quad=\sum_{k=0}^{n}\binom{n}{k} \sum_{i=0}^{b-1} \sum_{j=0}^{a-1} b^{k} a^{n-k} B_{k}^{(m)}\left(a x+\frac{a}{b} i\right) B_{n-k}^{(m)}\left(b y+\frac{b}{a} j\right) . \tag{19}
\end{align*}
$$

Setting $y=0, m=1$ in Theorem 2.7, we have:

Corollary 2.9. For all integers $a>0, b>0$, and $n \geq 0, \lambda \in \mathbb{C}$,

$$
\begin{align*}
& \sum_{k=0}^{n}\binom{n}{k} \sum_{i=0}^{a-1} \sum_{j=0}^{b-1} \lambda^{i+j} a^{k} b^{n-k} \mathscr{B}_{k}\left(b x+\frac{b}{a} i ; \lambda\right) \mathscr{B}_{n-k}\left(\frac{a}{b} j ; \lambda\right) \\
& \quad=\sum_{k=0}^{n}\binom{n}{k} \sum_{i=0}^{b-1} \sum_{j=0}^{a-1} \lambda^{i+j} b^{k} a^{n-k} \mathscr{B}_{k}\left(a x+\frac{a}{b} i ; \lambda\right) \mathscr{B}_{n-k}\left(\frac{b}{a} ; \lambda\right) . \tag{20}
\end{align*}
$$

When $b=1$ in (20), we have the relationship:

$$
\begin{equation*}
\sum_{k=0}^{n}\binom{n}{k} \sum_{i=0}^{a-1} \lambda^{i} a^{k} \mathscr{B}_{k}\left(x+\frac{i}{a} ; \lambda\right) \mathscr{B}_{n-k}(\lambda)=\sum_{k=0}^{n}\binom{n}{k} \sum_{j=0}^{a-1} \lambda^{j} a^{n-k} \mathscr{B}_{k}(a x ; \lambda) \mathscr{B}_{n-k}\left(\frac{j}{a} ; \lambda\right) \tag{21}
\end{equation*}
$$

Substituting $\lambda=1$ in (21), we have the relationship:

$$
\begin{equation*}
\sum_{k=0}^{n}\binom{n}{k} \sum_{i=0}^{a-1} a^{k} B_{k}\left(x+\frac{i}{a}\right) B_{n-k}=\sum_{k=0}^{n}\binom{n}{k} \sum_{j=0}^{a-1} a^{n-k} B_{k}(a x) B_{n-k}\left(\frac{j}{a}\right) . \tag{22}
\end{equation*}
$$

Theorem 2.10. For each pair of positive integers $a$ and $b$, and all integers $n \geq 0, \lambda \in \mathbb{C}$ and $m \geq 1$, we have the following identity:

$$
\begin{align*}
& \sum_{k=0}^{n}\binom{n}{k} \sum_{i=0}^{a-1} \sum_{j=0}^{b-1} \lambda^{i+j} a^{k} b^{n-k} \mathscr{B}_{k}^{(m)}\left(b x+\frac{b}{a} i+j ; \lambda\right) \mathscr{B}_{n-k}^{(m)}(a y ; \lambda) \\
& \quad=\sum_{k=0}^{n}\binom{n}{k} \sum_{i=0}^{b-1} \sum_{j=0}^{a-1} \lambda^{i+j} b^{k} a^{n-k} \mathscr{B}_{k}^{(m)}\left(a x+\frac{a}{b} i+j ; \lambda\right) \mathscr{B}_{n-k}^{(m)}(b y ; \lambda) . \tag{23}
\end{align*}
$$

Proof. The proof is analogous to Theorem 2.7, but we need to change the order of the summation of series. On the one hand,

$$
\begin{aligned}
h(t) & =\frac{t^{2 m} \mathrm{e}^{a b x t}\left(\lambda^{a} \mathrm{e}^{a b t}-1\right)\left(\lambda^{b} \mathrm{e}^{a b t}-1\right) \mathrm{e}^{a b y t}}{\left(\lambda \mathrm{e}^{a t}-1\right)^{m+1}\left(\lambda \mathrm{e}^{b t}-1\right)^{m+1}} \\
& =\frac{1}{a^{m} b^{m}}\left(\frac{a t}{\lambda \mathrm{e}^{a t}-1}\right)^{m} \mathrm{e}^{a b x t}\left(\frac{\lambda^{a} \mathrm{e}^{a b t}-1}{\lambda \mathrm{e}^{b t}-1}\right)\left(\frac{b t}{\lambda \mathrm{e}^{b t}-1}\right)^{m} \mathrm{e}^{a b y t}\left(\frac{\lambda^{b} \mathrm{e}^{a b t}-1}{\lambda \mathrm{e}^{a t}-1}\right) \\
& =\frac{1}{a^{m} b^{m}}\left(\frac{a t}{\lambda \mathrm{e}^{a t}-1}\right)^{m} \mathrm{e}^{a b x t} \sum_{i=0}^{a-1} \lambda^{i} \mathrm{e}^{b t i}\left(\frac{b t}{\lambda \mathrm{e}^{b t}-1}\right)^{m} \mathrm{e}^{a b y t} \sum_{j=0}^{b-1} \lambda^{j} \mathrm{e}^{a t j} \\
& =\frac{1}{a^{m} b^{m}} \sum_{i=0}^{a-1} \sum_{j=0}^{b-1} \lambda^{i+j}\left(\frac{a t}{\lambda \mathrm{e}^{a t}-1}\right)^{m} \mathrm{e}^{\left(b x+\frac{b}{a} i+j\right) a t}\left(\frac{b t}{\lambda \mathrm{e}^{b t}-1}\right)^{m} \mathrm{e}^{(a b y t)} \\
& =\frac{1}{a^{m} b^{m}}\left(\sum_{i=0}^{a-1} \sum_{j=0}^{b-1} \lambda^{i+j} \sum_{n=0}^{\infty} \mathscr{B}_{n}^{(m)}\left(b x+\frac{b}{a} i+j ; \lambda\right) \frac{(a t)^{n}}{n!}\right)\left(\sum_{n=0}^{\infty} \mathscr{B}_{n}^{(m)}(a y ; \lambda) \frac{(b t)^{n}}{n!}\right) \\
& =\frac{1}{a^{m} b^{m}} \sum_{n=0}^{\infty}\left(\sum_{k=0}^{n}\binom{n}{k} \sum_{i=0}^{a-1} \sum_{j=0}^{b-1} \lambda^{i+j} a^{k} b^{n-k} \mathscr{B}_{k}^{(m)}\left(b x+\frac{b}{a} i+j ; \lambda\right) \mathscr{B}_{n-k}^{(m)}(a y ; \lambda)\right) \frac{t^{n}}{n!} .
\end{aligned}
$$

On the other hand,

$$
\begin{aligned}
h(t) & =\frac{t^{2 m} \mathrm{e}^{a b x t}\left(\lambda^{a} \mathrm{e}^{a b t}-1\right)\left(\lambda^{b} \mathrm{e}^{a b t}-1\right) \mathrm{e}^{a b y t}}{\left(\lambda \mathrm{e}^{a t}-1\right)^{m+1}\left(\lambda \mathrm{e}^{b t}-1\right)^{m+1}} \\
& =\frac{1}{a^{m} b^{m}} \sum_{n=0}^{\infty}\left(\sum_{k=0}^{n}\binom{n}{k} \sum_{i=0}^{b-1} \sum_{j=0}^{a-1} \lambda^{i+j} b^{k} a^{n-k} \mathscr{B}_{k}^{(m)}\left(a x+\frac{a}{b} i+j ; \lambda\right) \mathscr{B}_{n-k}^{(m)}(b y ; \lambda)\right) \frac{t^{n}}{n!} .
\end{aligned}
$$

Equating coefficients of ( $t^{n} / n!$ ) on the right-hand sides of the last two equations gives us (23).
By setting $\lambda=1$ in Theorem 2.10, we have a common special case of the identity:
Corollary 2.11. For all integers $a>0, b>0$, and $n \geq 0, m \geq 1$,

$$
\begin{equation*}
\sum_{k=0}^{n}\binom{n}{k} \sum_{i=0}^{a-1} \sum_{j=0}^{b-1} a^{k} b^{n-k} B_{k}^{(m)}\left(b x+\frac{b}{a} i+j\right) B_{n-k}^{(m)}(a y)=\sum_{k=0}^{n}\binom{n}{k} \sum_{i=0}^{b-1} \sum_{j=0}^{a-1} b^{k} a^{n-k} B_{k}^{(m)}\left(a x+\frac{a}{b} i+j\right) B_{n-k}^{(m)}(b y) \tag{24}
\end{equation*}
$$

Setting $y=0, m=1$ in Theorem 2.10, we have:
Corollary 2.12. For all integers $a>0, b>0$, and $n \geq 0, \lambda \in \mathbb{C}$,

$$
\begin{align*}
& \sum_{k=0}^{n}\binom{n}{k} \sum_{i=0}^{a-1} \sum_{j=0}^{b-1} \lambda^{i+j} a^{k} b^{n-k} \mathscr{B}_{k}\left(b x+\frac{b}{a} i+j ; \lambda\right) \mathscr{B}_{n-k}(\lambda) \\
& \quad=\sum_{k=0}^{n}\binom{n}{k} \sum_{i=0}^{b-1} \sum_{j=0}^{a-1} \lambda^{i+j} b^{k} a^{n-k} \mathscr{B}_{k}\left(a x+\frac{a}{b} i+j ; \lambda\right) \mathscr{B}_{n-k}(\lambda) . \tag{25}
\end{align*}
$$

When $b=1$ in (25), we have the relationship:

$$
\begin{equation*}
\sum_{k=0}^{n}\binom{n}{k} \sum_{i=0}^{a-1} \lambda^{i} a^{k} \mathscr{B}_{k}\left(x+\frac{i}{a} ; \lambda\right) \mathscr{B}_{n-k}(\lambda)=\sum_{k=0}^{n}\binom{n}{k} \sum_{j=0}^{a-1} \lambda^{j} a^{n-k} \mathscr{B}_{k}(a x+j ; \lambda) \mathscr{B}_{n-k}(\lambda) \tag{26}
\end{equation*}
$$

Substituting $\lambda=1$ in (26), we have the relationship:

$$
\begin{equation*}
\sum_{k=0}^{n}\binom{n}{k} \sum_{i=0}^{a-1} a^{k} B_{k}\left(x+\frac{i}{a}\right) B_{n-k}=\sum_{k=0}^{n}\binom{n}{k} \sum_{j=0}^{a-1} a^{k} B_{n-k}(a x+j) B_{k} \tag{27}
\end{equation*}
$$

## 3. A remark

For arbitrary real or complex parameters $\alpha$ and $\lambda$, the generalized Apostol-Euler polynomials $\mathscr{E}_{n}^{(\alpha)}(x ; \lambda)$ are defined by the following generating functions: $\left(\frac{2}{\lambda \mathrm{e}^{t}+1}\right)^{\alpha} \mathrm{e}^{x t}=\sum_{n=0}^{\infty} \mathscr{E}_{n}^{(\alpha)}(x, \lambda) \frac{t^{n}}{n!}$ (see $[7,8,10]$ ). We can also establish the similar symmetric identities for the generalized Apostol-Euler polynomials. However, the condition is that the integers $a$ and $b$ are both even integers or odd integers. For example, for each pair of positive even integers $a$ and $b$, or each pair of positive odd integers $a$ and $b$, and all integers $n \geq 0, \lambda \in \mathbb{C}$ and $m \geq 1$, completely analogous to the proof of Theorem 2.1, we can establish the following relation between the generalized Apostol-Euler polynomials and Definition 1.3:

$$
\begin{aligned}
& \sum_{k=0}^{n}\binom{n}{k} a^{n-k} b^{k+1} \mathscr{E}_{n-k}^{(m)}(b x ; \lambda) \sum_{i=0}^{k}\binom{k}{i} \mathscr{M}_{i}(a-1 ; \lambda) \mathscr{E}_{k-i}^{(m-1)}(a y ; \lambda) \\
& \quad=\sum_{k=0}^{n}\binom{n}{k} b^{n-k} a^{k+1} \mathscr{E}_{n-k}^{(m)}(a x ; \lambda) \sum_{i=0}^{k}\binom{k}{i} \mathscr{M}_{i}(b-1 ; \lambda) \mathscr{E}_{k-i}^{(m-1)}(b y ; \lambda)
\end{aligned}
$$

## Acknowledgements

We would like to thank the two anonymous referees for their many valuable suggestions which have improved the presentation of the paper. This research is supported by the National Natural Science Foundation of China (Grant No. 10771093).

## References

[1] Y.L. Luke, The Special Functions and Their Approximations, vol. I, Academic Press, New York, London, 1969.
[2] H.M. Srivastava, J. Choi, Series Associated with the Zeta and Related Functions, Kluwer Academic Publishers, Dordrecht, 2001.
[3] H.M. Srivastava, Á Pintér, Remarks on some relationships between the Bernoulli and Euler polynomials, Appl. Math. Lett. 17 (4) (2004) 375-380.
[4] Z.Z. Zhang, J. Wang, Bernoulli matrix and its algebraic properties, Discrete Appl. Math. 154 (2006) 1622-1632.
[5] T.M. Apostol, On the Lerch zeta function, Pacific J. Math. 1 (1951) 161-167.
[6] Q.-M. Luo, On the Apostol-Bernoulli polynomials, Cent. Eur. J. Math. 2 (4) (2004) 509-515.
[7] Q.-M. Luo, H.M. Srivastava, Some relationships between the Apostol-Bernoulli and Apostol-Euler polynomials, Comput. Math. Appl. 51 (3-4) (2006) 631-642.
[8] Q.-M. Luo, H.M. Srivastava, Some generalizations of the Apostol-Bernoulli and Apostol-Euler polynomials, J. Math. Anal. Appl. 308 (1) (2005) 290-302.
[9] H.M. Srivastava, Some formulas for the Bernoulli and Euler polynomials at rational arguments, Math. Proc. Cambridge Philos. Soc. 129 (1) (2000) 77-84.
[10] W. Wang, Some results on the Apostol-Bernoulli and Apostol-Euler polynomials, Comput. Math. Appl. (2007) doi:10.1016/j.camwa.2007.06.021.
[11] M. Garg, K. Jain, Srivastava, Some relationships between the generalized Apostol-Bernoulli polynomials and Hurwitz-Lerch zeta functions, Integral Transforms Spec. Funct. 17 (2006) 803-815.
[12] S.-D. Lin, H.M. Srivastava, P.Y. Wang, Some expansion formulas for a class of generalized Hurwitz-Lerch Zeta functions, Integral Transforms Spec. Funct. 17 (2006) 817-827.
[13] E. Deeba, D. Rodriguez, Stirling's series and Bernoulli numbers, Amer. Math. Monthly 98 (1991) 423-426
[14] H.J.H. Tuenter, A symmetry of power sum polynomials and Bernoulli numbers, Amer. Math. Monthly 108 (2001) 258-261.
[15] J.L. Raabe, Zurückführung einiger Summen und bestimmten Integrale auf die Jakob Bernoullische Function, J. Reine Angew. Math. 42 (1851) $348-376$,
[16] S.L. Yang, An identity of symmetry for the Bernoulli polynomials, Discrete Math. (2007) doi:10.1016/j.disc.2007.03.030.
[17] I. Gessel, Solution to problem E3237, Amer. Math. Monthly 96 (1989) 364.


[^0]:    * Corresponding author at: Department of Mathematics, Luoyang Normal University, Luoyang 471022, PR China.

    E-mail addresses: zhzhzhang-yang@163.com (Z. Zhang), yanghanqingdzxx@yahoo.com.cn (H. Yang).

